
Lecture 7 - Sep. 29

Lexical Analysis

NFA: Tracing & Formulation
NFA to DFA Conversion
ε-NFA: Formulation and ε-Closure



NFA Behaviour ≈ Alternative Universe

Trace: 00101

Obviously the time continuum has been disrupted, creating this new 
temporal event sequence resulting in this alternate reality. - Doc Brown
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NFA: Processing Strings
How an NFA determines if an input 00101 should be accepted:
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NFA: Formulation
Language of a NFA
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Every DFA is an ÑTA .

Not necessarily every NFA is a DFA .
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NFA to DFA: Subset Construction (Lazy Evaluation)
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Subset Construction: Algorithmic Specification
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epsilon-NFA: Motivation Draw NFA
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